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Professor Amartya Sen is famous in

which of the following fields ?
(A) Bio-chemistry
(B) Electronics

(C) Economics

(D) Geology

Headquarters of UNO are situated

'\at:’

(A) New York, USA

P

(B) Hague, Netherland
‘ (C) Geneva, .Swvitzerla'n(’i | _
(D) Paris, France
Myamhar is the new name of :
. (A) Tﬁéiland
(B) Bul;ma

| ©) Philipﬁins

(D) Vietnam

25—-Math.
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International Yoga day is celebrated

o on:
(A) 5th Jun:e

(B) 20th.June

© ,2lst June .

(D) 22nd June

Find out th.eb‘misspeltl word :
(A) Quarelled

(B) Rebellious

(©) Commissibﬁ_

(D) Mirraculous

Choose the word which is opposite

of RELINQUISH :
(A) Abdicate

(B) Renouncé

(C) Possess

(D) Deny -

.26—-Math.

%2 | h
(A) 553
(B) 20 SH

© 215@

(D) 22 [

EUECE R

(A) Quarelled
(B) Rebellious
© Corﬁmi\ssion

(D) Mirracuious

'RELINQUISH #1 foeim v g

(A) Abdicate

(B) Renounce

" (C) Possess -

(D) Deny



Choose one word for thé following :
Continuing ‘ fight between parties,

families, clans etec. :

(A) Enmity

" (B) Feud

| (C) Quarrel

(D) Skirmish

Complete the vseries :

| 14, 28, 20, 40, 32, 64, .......
A 52

®) 56

() 96

(D) 128

A inan is. 24 years older than “his-

-son. In two years, his age will be
twice the age of his son. The present

" age of his son is :
(A) 14 years
(B) 18 years
(C) 20 years

D) 22 years

25—-Math.

7.

f= = foe @ w= 9

_ Continuing fight between parties,

families, clans etc :
(A) Enmity

(B) Feud

(0) Quarrel

- (D) Skirmish

SEe QW HINT
14, 28, 20, 40, 32, 64, .......
(A) 52

(B) 56 °

© 9%

(D) 128

-
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@) 14
(B) 1899

(C) 20 Td

D) 22 7



10. Which number replaces the question

mark ?
10
8 13
16 | 6
4 |19
22 | ?
Ay 2
(B) 5
©) 26
(D) 40

11. A relation R represented by the

following directed graph :

18 :

(A) Reflexive

(B) Symmefric

(C) Anti-symmetﬁc

(D) Transitive

25—Math.

11.

10. v fa= & S % wlaeenfua

HAIM ?
10
8 |13
16 | 6
4 |19
22 | 2|

(A) @
 (B) g
(C) viemfim

(D)r«_iwﬁs'ﬁ |




12. Let (L, <) be a lattice with 1 and

0 as its upper and lower bounds |

- respectively. The Vae L the false |

.sfatement is :

It
[

A aev1
B)a v O0=a
. (C) a A*1=1"j

=0

. D aaA0=

. 13.

‘In Boolean algebra, the law of

complement is :

WAUG-A=8

B)ANG-4=S8

.

AU GB-A=¢

., (D) None of the above

'25-Math.

12, W (L, <) FK o ¢ Ed Sl

aun fr Wi R 19 Y3 3

%ﬁm”r ae L & fau wom@ wud

o

A avil=1
V(B)'ba vO=a
C)ananl=1

(D)a/\O=O

13 agﬂnaﬁmﬁmﬁwﬁm%

@WAUGB-4=8

BANG-A=8§

CAUG-A=¢

(D) sWfF & § K T



14. If G is a connected planar graph
with n vertices, e edges and r regions

then true statement ’is:
A n+e-r=2
B)e+r-n=2
‘(-C)n—‘e+r‘=2 |

DO)n-e-r

I
3]

15. The height of a balanced complete

binary tree on n vertices is :

| n+1
(A) logy ‘2_)

S

lo __—__1_)
(B) 1089 2

)

(C) log,

oS

(D) log,

S
N+
N
N’

25—-Math. ‘ | ' | 8

14.

15.

A G TF g e 7 ¢ fod
n?ﬁﬁ,éﬁ‘wrm%@w$m
;o

(A) n+e-—-r=2.
B)e+r-n=2

Cn-e+r=2

D)n-e-r=2
n ¥ @ v f R gu 9 e
T - '

Io (m)
(A)'-gz 5 |

lo __n; 1) |
(B) logg 2
lo | 1)
’(C) _gg 2
D) log, n+2 )
2



16. The generating function of the |

numeric function :

. 1
G20

1S

(A) e* -1

® =
. X

(©

D)

. 17." The series

1 1 1
l-—+——-—+ ....... +
2P 3P 4°F
ewm 17
(-"1) n—p_-i- .......

is ﬁbsolufely convezfgent when
A 0<p<1
"(B) p<0 "

©) p>1

(D) all values of p
25-Math.

[ 17.

®)

©)

(A 0<ps1l
‘B p<0
(C) p>1

© p# wh W B T



18. The region of convergence of power | 18 log, (1 + x) ¥t x &Y wwi & wwa Sof

series eXpaﬁsion of log, (1 + x) in TaR 5 I & e v:
powers of x is :
_ (A) -1<x<1
(A -1<x<1 .
‘ B) -1<x<1
(B) -1<x<1
’ : (C) -1<x<1
©C) -1<x<1

D) &F # § FE &

(D) none of the above

19.  If C 19 wR
¥2y2 | | : u___xzy?
u= prrae P
then the’val‘ue of : | a a: a
s o o : H HA W
@) u | ol W
(B) 2u | | (B) 2u
© 3u | | . © 3u
(D) 4u o (D) 4u

25-Math. - 10



20. If the pedal equation‘ of cardioid is | 20. afs wfEatas =1 wfew wHiwHTW
3 = 2ap? and p is the fadigs of | | ,.r3=2ap2ammﬁ§m§m-ﬁm
cu‘rvaturg at any point, then : | P %, 'cﬂA : |
(A5 poc r1/2 B (A) pocrV2
(B) 'pocrlls S | ; (h) px,}u# )

(%) poer | | : f (©) P°°"
@) per” : ] o pocr®
21.. Thelﬁsymptotes to the cﬁrvé ' 21, % : |
yz(x—b)=x3'+a3 ( L o yz(x—b)v=ﬂx3+a3
'gre X ‘ o ‘ | Ca| m@ﬁfﬂfﬁ’ﬁ :
‘(A)’ x=by=tx A'»(A.). ‘x=b,y=ix .
®) x%bfy=’x+%,y=—x—_% | - ® x‘=b_‘,y=x+%,vy=—x-g
b.(C)'x=b,y=x—'"%,y=—x+% ((?) vx=b,y‘=:}‘:—%,y.=—x g
D) x'=b,x=y+%;x_=—y—%. | ‘(D») x=,b,x=y+%,‘x'=4y.-_g

25-Math. . 11



22.

23.

For the curve :

ay? = ‘x(x - a)®
the point (a, 0) ié :
(A) a cusp |
B) a node :
(C) a conjugate point
(D) not a double point |
If :

e,y =1-62"y,

then the value of double integral :

[ £,y da
7 9)

over a rectangular region :

is :

(A) 16
(B) 8"
() 2

D) 4

25—-Math.
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22.

23,

9%

ay? = x(x - a)?

& fau 95 (@, 0) % ¢

(A) TF I

(B) & S

() w fagwm fag
O T fF fog @

a
'f(x,y)=1-6x2y

@ I &



24. The volume bounded by the

cylinders :

-:x:2+;y2'=a2 and x2 +22 =a?

~ in positive octant is :

25.

B) =d°

'w>§f
(D) a3

If s be the length of arc of the |

catenary :

~y=acosh(x/a)

from the vertex (0, a) to the point

(x, y), then which of the following

statement is true ? k

- (A) V32=x2—a2

B) s? =x® +a?
©) s? =y -a?

D) s?=y%+a®

25-Math.

24.

- 25.

;'a'a:ﬁ:

x®+ y% = a?Tq x? + 2% = a?

Y IREg ST TeiE 8 O W1 S

(A). %a:"

m>§f

© 3

D) o3
e Hfed .

y ="a cosh(x/a)

R OO, o) ¥ R g @, ) T

13

T s W, A B A A
wor v & 2

(A) §? =x%-a?

(B) s =x2 +a?
(C) s? =y? - d?
D s’=y*+a®



-26. If two spheres of radii 7 and R-cut | 26.. r 3R R ﬁWTSfT ‘& Q) e enfEes
| orthogonally, then radiusv of common w7 § Fed § @ s g4 & foreen
circle is : o | G
R | | R
W f2irr ? A 2 + R?
| f+R o r+R
® T2.mp - B) 2 ge
(©) f2iR2 . : © [2,R?
rR - : I rR
o o o
27. The cone : | ‘27. T
.dg;2+by2+cz2+-2ﬁyz+ o ax2+by2+éé2+2ﬁ'z+__,
2gzx +‘2}zxy =0 2g2x + 2h5cy =0
has three mﬁtuallj‘r perpendicular | % ik W TRl e qe g
tangent planes when : Sefh
(A a+b+c=0 | @ a+b+c=0
V(VB) f+g+h=0 (B)-f+g+h;o
© fg+gh+hf=a>+b>+c2 | © fe+gh+hf=a>+b"+c?
D) ab+bc+éa =f2»+bg2+h2 | D) ab+bc+ca'=f2+g?+h?



29.

- 28. . The equation of director sphere of

ellipsoid :
‘ 2 2 2
a® b c
is :
A) a?? + %y + 222 =1
- B) +y*+22=0a% +b%+c?
' o 1. 1 1
_(C)'x2+y2+z2=—5+b7+;2--
2 . .2 2 . '
x° oyt 2z 1 1.1
D) Sttt =+
®) a b c a2 b2

The equations of generating lines of

~ the hyperboloid :

(y+2) (z{3) +@y+22)(x-1=

~are

(A) 3x+2=0,z=3 and

x+y +1=0,33'+‘2=3

‘(B) 3x+2=0,3y+2z=3 and

x+y+1=0,2=3
(C) 3x+2=0,z=1 and
 x+y+3=0,3y+z=1

(D) none'of the above

25-Math.

~ passing through the point (-1, 0, 3) |

15

28.

1 29.

(©

2 y2 22”»
+b,—2—+—2 =1
c .

. QNIR

(A) 22 +b%y2 + 222 =1

B) x2+y%+2%=d° +b +c

222\1.1l

X +y+2i ==+ =+

R 2 b2 C2

2 .9 2 . .

x° ¥y oz 1 1 1
D) =+ 5+—=-—"5+—7+—5
SfaREeE

' (y+2)(z+3)'+(3y+2z)(x—1)=0
-t Lo, 3)@133'@3@%
?@aﬂ'«%wﬁmm%

(A)3x+z=mz=333
| §x+yv+1=m3y+;=3
(B)’ 3x +z.k=0_,b3y +z=3 W
|  riy+le02=3
© Sr+z=02=1T |
V'x+y+3'=0,3‘y/+'z=1_

D) Wﬁaﬁs‘aﬁ



30.

31.

25-Math.

©)

If the primal problem has an

unbounded ‘solution, then which of

the following statement is correct ?

(A) its dual problém has either no
sol‘ution or an unbounded

solution

(B) its dual problem has either
finite optimal solution or an

unbounded solution

finite optimal solution or a

bounded solution

(D). its dual problem has either no

‘solution or a bounded solution

The set of rational numbers Q.is 1

(A) both complete ordered and
Archimedean field

(B) a complete ordered field but not
an Archimedean field

(C). an Archimedean field but not a
complete ordered field

(D) neither a complete ordered field |

nor an Archimedean field

its dual problem haé either |

16

30.

31.

Ifg fFdt oI goe & & ufEs |

@ fer # ¥ W wom T ¥ 2

(A) TEH 2t e w1 ' A4 @
Jiag B F¥El HE 'S T
am

(B) 39! Tl wHEN &1 A uRkfi
TAH & B AYST §A RS
o

(C) THHT &t wen &1 91 @ i@
o |

(D) Wﬁvﬁﬁmmw#a‘mﬁw

T o B T T am
i demsll w1 Wy Q ¥
(A) Tﬁaﬁmqaw%ﬁnﬁaaaaﬁ

N o
(B) T Ui wika mmaﬁﬁm

& ¥ |
(©) sufwfreta & & g Fi & T

. .

®) 7 @ T @ &% § W 7 &
e &9 ¥



32.

o (B) Set A = {xl, X9,

33.

éFaISe- statement is :

(A) The set R of real numbers is a :

connected set -

a compact set

(C) The set Q of rational numbers

is a compact set

(D) The set I of integers is not |

bounded set

The sequence {1}, n e N (the set"

of natural numbers) is .

(A) both bounded and a Cauchy

sequence

- sequence

(C) a Cauchy seque.h'ce but not

bounded

) a bOundedrsbe»quevnce but not a

Cauchy sequence

25-Math.

'(B) neither bounded nor a Cauchy |
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32.

e w ¥

(&) e ST % W R T

T He we ¥

. (0) it et 1 A= Q T Wed

33.

(D)whﬁ‘mvgﬁai'@m
IFTFT (1)), ne N (WFd dead

mmﬁm) ‘@’TT

(A) TRag @ B eEw <
B 7 A g o T @ e

'

(©) it oW & Wy e T §

(D) W s ¥ Ty e s

»‘-!ﬁ%kl



34. The converse of which of the

following statement is necessarily

true ?

(A) If fix) is continuous at x = a,
then |Ax)| is also continuous at

xX=a

B) Ifa functibn fix) is continuous
at a point ‘@’ in a domain D in
accordance with _Cauchy”s
defihition then it is also
continuous in accordance with
Heiﬁe’s deﬁnition |

(C) Ifa function is continuous in a
‘closed | interval then it is

" bounded in that interval

(D) A differentiable function at a
point is necessarily continuous

~ at that point

25-Math.
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34. ﬁmﬁ@mmﬁmﬁﬁww
w%.w%‘ﬁl?
'(A)aﬁrﬁmf(x),xwmziaa%ah

|ﬂx)|sﬂ§;a'qzziaam
(B)wﬁ@ﬁﬂxmﬁmb%
Wﬁz‘a’m.aﬂ?ﬂaﬁﬁﬁw
ﬁﬁw%aﬁ[aﬁsﬂﬁaa@ﬂﬂ
(C) 3R T %o Fa A< § Had
é,%haas'z#aa;awﬁmsﬁ
U “
(D)'m»ﬁémaamaméﬁw
| fg W T w9 @ o

T



35. If f is differentiable on :

36-

[a) b]’ ﬂa) =0 =v ﬂb)
and fix) # 0 for any x ¢ (a, b), thén :

A) f'a) f'®B) <0

- B) fa)f'®B)>0

©) f@f'®)=0

- D) fla)f'(b)=ab

Let f : [0, 1] T R (the set of
real numbers) be a function defined

as fl0) = 0 and f(x) = (-1)",

1 o
<x<=,neN.
n+1l n :

" Then which of the following

stafement is true ?

(A) fis Abounded on [O? 1] and has
finite number of discontinuities
in [0, 1] |

(B) f is unbounded on [0, 1]

©) feRIO, 1

(D) f ¢ RIO, 1]

25-Math. -

19

35. AR f F=A [a, b] F FrEwHEra

36.

oM ¥, fla) = 0 = fib) T fix) £ 0

‘fﬂ?ﬁmx‘e (@, b) & fag, @ :

(A) f'@)f'®) <0
®) f@ ff(b‘) >0
(C) 'f'(a) f®)=0
D) fY@ f'b)=ab
01 >R
(arafoe st %1 ag=ea) ﬁw THR
A wRefra ¥ A0) = 0T f(x)

7 fF B wEE f

(—1)"

1
<x<=,neN.
n+l - n

ﬁﬁnﬁ%mmm_m%?

(A)f,ewra[o 11m'vﬁaz%na_
[0, 1]ﬁvﬁﬁmm§q1ﬁﬁ§aﬁm'
m%

®) f, W [0, 1] W mﬁaz%

(&) f e R0, 1]

D) f ¢ RO, 1]



37. The series :

= nP o+ x? nq
converges uniformly for all real x,
-when :
A)p+qg>0
B)p+qg>1
Cp+qg<l
(D) D +q>2

38. Let :

n
ax +

£ () = , (a, b eR, bz0),

x€l0,llandneN

fhen "which of the following

statement is true ?

(A) both {f } and {f',} are uniformly

convergent on [0, 1]
. (B) neither {f,} nor if '} converge
uniformly on [0, 1]

(C) {f',} is uniformly convergent
but {f',} is not uniformly
convergent on [0, 1]

- D ) is unifomﬂy convergent

but {f,} is not uniformly

convergent on [0, 1]

95-Math.
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38.

xﬁmﬂmﬁmmﬁa‘:mm
It Bt Safeh
(A)p+q$0-

(B).p+q>1

©p+g<l

D p+gqg>2

oA o .

fr(x)=ax + — (a beR, b¢0)

xe[Ol]QaneN
aﬁwﬁﬁﬁwwmw% ?

(A) {fn}Qﬁ{f',,}ﬁ[O, 1] R HEIH
s ® |

B) AR} AR, 0, 1] W
THEIA AER

(C) [0, 1] W {f' )} TwuaH AR

%ﬁ{f'}wmaifwrﬁ?ﬁ
T

®) [0, 1] ® i, mqﬁ SR
T g If,) e iR



39, Which of the following statements | 39. fr7 # & Fr@ w97 3| § ?

is false ?

&) foh g e X, d) 3 s

(A) Every convergent sequence in - AV IR ofEs B ®

a metric space (X, d) is bounded |} ‘ A . .
, : B) &4t s e X, d) 4 7@

(©) i i W (X, d) § Swwwfie
(Y, d) ot ot & ik ok A AR
Y g @ |

D) fre i W X, d) § o

(B) Every Cauchy sequené in a

metric space (X, d) is convergent

- (C) a subspace (Y, d) of a complete
metric space (X, d) is compléte-
iff Y is closed

(D) Every convergent seqxieri‘ce in
a metric space X, d)is a Cauchy

sequence - & S .

40. Integrating factor of differential | 40. 3% it

equation : : dy
x+ 2y =L =
(x+ 2y%) i

dy .
(x+ 2y%) == = ' -
T T dx Y 1 GeH U B

s :

(A) 1

@ = ' 0

Y T B) y

B y 1

©) =

1 . X

© x : (D)'x
D) x |

25-Math. | 21



41.

42.

43.

25-Math.

1 x COSX D v
DZ_1% T2 ‘is equal to :

x

(A) -—’%)—(2 sinx —cosx)

B) - e—(sinx 4'2 cosXx)

10
© i(2 sina;: —-cosx)
10 :
(D} i (sinx —2cosx)
‘ 10 ‘

The singular solution of differential

equation y=xp + p? is:

(A) y? =4x
(B) y*=-4x
©) %= 4y
D) x%= -4y
ok & - kx i
If at yagd dt X (kis a

constant) then the point (x, y) lies

on a/an :
(A) straight line
B) _circlé

(C) parabola

. (D) ellipse

22

41,

42.

1 (ex cosx
D? -1 2

)W%:

X

A) - —1‘3—6(2 sinaf,—cosx)

x

B) - %(Sinx -2 cos x)

o o ,
—(2sinx —cosx)

© 10
‘ et .
(D) ﬂ)-(s;n lx -2cos x)

IFHA THHE y = xp + p? H fafe

43.

(A) y? =4x

_ (B,) y? = - 4x

©) x?=4y

D) x2= -4y
}dx V , . dy , ‘
by @ _ _

Ife a 'y QE[. ” kx (k T&h

IR W 7) B, DG (&, ) Fem

(A) T WE @ W

(B) T 90 W

(C) TF WaAE W

(D) ©F ddE W



45.

The complementary function of the I 44,

differential equatlon :

d2y dy

1-x)—= 2
( x)dx+xdx y= (1 x)

is :
(A) ¢ e*+ecyx

B) ¢e* + cpx

(C) ¢t (1 - x)

D) ¢ e*+ cyx !
(where ¢, and ¢, ‘are constants)
The particular integral of partial

differential equation :

%z %z 3%

+ '3‘8xay + 2 %

is :

x3

“(A) —+ 1 x2y

3 2

x3 1 2
(B) —3——-2—xy.
xab

- (C) ————l-xzy

3 2

'xs 1 2

. D) ——§-+—xy

2

25-Math.

2
a-n9Y dy

% J .=,1_ 2
dx+xdx y( »x)‘

anﬁmwm#am:

(A) ¢ e”+eyx
B) cje*+cpx
©) ce*+ eyl — )

M) ¢ e*+cx

3

. ifs SEwe FHE |

2 2 " V2
az+3ai;y+2§y§ =x+y

1 fafite wuERe &

2 1 .
(A) —3—+—2-xy

- B) =—-x"y

X 1 2
C) 3 .2xy

.3
X 1 2
D) _3f2xy



25-Math.

46. The solution of partial differential

equation :
xz(y- z)p+y2 (z—x)q=22(x- y)

is :

47. Given that A0) = 8, fi1) = 70 and

fi5) = 118, then value of Abhﬂa) |
, ' e

is :

(A) 10

(B) -10

© 5

D) -5

1 1
: —t— + =,
@A) f 2t 3

24

46. Af¥Tw A GHIE

x%(y-2)p+y?(z-2x)q =2%(x - y)

J-o

F AR :

1

+—+

N |-

Y

R |

o

©) f xyz,%%—l—‘+—)=0

o

+

|-
N |-

1 1
(B) f s — +
xyz x

-

y -4

- 1 .
(D) kayz, —,—)=0

xyz

47. RE g R0) = 8, A1) = 70 T fi5)

\ .92 |
- =118,?h[bﬁﬂa)m‘tn=f€|m:
C

(A) 10
(B) -10
©) 5

M) -5



48. The first approximation of y

49.

satisfying the differential equation :

dy '
Y1+t
ar Y

Picard’s method 1is :

A) ¢ -2
®B) t+2
© ¢t

D) ¢-1

By,using Simpson’s rule :

b . v
J‘f(x)dx;%g [ fxy) +,4f(x1)

+2f (@) +... + Flap,) |

- (where x5 = a, x5, = b)

2

the value of integrél J‘y for

1

n=1is:
N .—:1;%
(B) -;—Z;
’(C) %g'
(D) %

25-Math.

subject to the condition ¥(2) =0by |

25

48. fywrd fafy Q. ta@a qHiwIwr

@ _
dt

aﬁﬁgemﬁmﬁymumm-
o SR y(2) = 0 F s B

l+ty

| »(A) t -2

| j 49’.

(@A)

(B)

(B) t +2

©) ¢

D) ¢ -1

famrm fram .

f Faddz = %“ [ Fao) + 4f(xy)

+2f (). + flxy)]

‘ (ﬁx():a,xzn:b)‘

wmﬁnmﬁgqmj;,n,:l
o 1 o

% fag qm dm .
13
36
H.
36
19

©) 36

_2§ .

D) 36



50.

51.

25-Math.

- R " n -
If r=xi+yj+zk and r=|r|

and r" r is a solenoidal vector, then

n is equal to :
(A) 2

(B) -2

© 3

D) -3
If F=xi+ 2yj + 3zk, and V-is the

volume enclosed by surface S, then

: HE.ﬁdS is equal to :
S ' .

A) 2V
(B) 4V
(C) 6V

D) 8V

26

50.

51.

g ~ ~ A e - :
M r=xi+y)+ 2k Wr=|r| A

oy et W ¥ @ o
A

(A) 2

(B) -2

© 3

D) -3

afg E.= xi + 2yj + 8z, W‘WS %

mmmmv%,a‘rﬂ'ﬁ.ﬁds
s

A) 2V

(B) 4V

1 (C) BV

(D) 8V



62. Let G = {1, -1, i, —i} is a group

53.

for ordinary multiplication and

(z, +) is an additive group of

integers, then f : (2, +) = (G, .) where |

f(x)=i’5 Vxez isa:
(A) homdmorphism only.

(B) epimorphism only -

V(C) monomorphism only

D) .isomorphiém

Let G be a group of permutations
defined on a set of 6 ‘sym'bols'. The

order of proper normal subgroup of

Gis:

25—-Math.

 (A) 60

(B) 120

- (C) 360

(D) 720

52. WM % G = {1, -1, i, —i} WERT A

%fc«rqmgg%am(z, +) Ui @
A7 wE &, @ f:'(z,+)5>'(G, ) t
f(x);ixVxez e

(‘A) Wmamﬁm

(B) ®aa TBRF . FAFIE

(C)v HI Tho! THHMA

- (D) g

53.

27

mﬁsw‘eéﬁ%wm,

ferf FE W EE GEAGE
- 3faq fafire SwwgE @ P AR
@) 60

(B) 120

(C) 360

D) 720



54.

55.

Which of the following statement is

true ?
(A) 4z is both maximal and prime
ideal of 2z

(B) 4zis neither maximal nor prinie
ideal of 2z

(C)> 4z is niakimal but not a prime
ideal of 2z

(D) 4z is prime but not a maximal

ideal of 2z

In a riﬁg R, x’=xVxeR, then

which of the following is a false

statement ? _

(A) R is a commutative ring

- (B) R is not a commutative ring

C)x+x=0VxeR

DM x+y=0 = x=y VYxyeR

25-Math.
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54. f1 A ¥ HFE FF TI ¥ ?

(A) 2 H 4o s T I

(B) 2z I 4z 7 @ 3feams o 7 &
© %wngmn%m
(D) .2z 1 4z Y Ul § R

513 WWWRﬁ x2=xVxeR, o

e # & S wod o ¥ 2
(A) R T wuffim som ¥
(B)R@maaﬁﬁ%
(C)vx+x=0 VxeR |

M x+y=0= x=y VxyeR



'56. Which of the following set is a | 56. =1 &3 % ¥ V4(R) 1 Swafie

subspace of V3(R) ? - ¥

A) {(a, b,lc)": a + }b +c = 0}  | ~(A) {(a, b, <_:)": a+b + c = 0}

(B) {(a, b, c)_:a2 + b2 + 2 51}-' | } {B) {(a, b, .c_) ca? + b2+ c? 'S,i}

© {@; b,¢):a,b,c e- Q | N | .(.C.), @, b, o : a, b, ¢ e .Q}.
"(DS {@, b,¢):a > 0} o ;v(b) {(a,b,c):a§0)

57. Let W be a subspace of V,(R) | 57. & f& V,R) # wfawi (1, -2, 5, -3),

spanned by the vector‘s. 1, -2, 5, . (2,3,1,-4) T (3, 8, -3, -5) 1 fargf
-3),(2,8,1,—4) and (3, 8, -3, -5) o (W)WW%@WWW
Then dim W is ’equ'ayl'to - - % : |
w1 S RV
®mz | w2
©3 . '} ; © 3
[0 4,’ ,; | | - o4

25-Math. : 29



98.

59.
- the line Re(z) = a in the z-plane is

60.

(B) —— =

The derivative of a function w = flz)
in polar is given by :

d
(A) —£=—.

W o
20
w
96

dw -i

dz

© d—w=—

ow
ez(-)

or

dw

@ oW i

or
2

Under the transformation fz) = 24,

transformed into a curve in w-plane
which is :

(A) a stfaight line

(B) a circle

(C) a parabola

(D) a hyperbola
The value of v'the integral :

& dz

n+1

n!
2ni

=2 2
is :

A0

® 1

© 2n

(D) 4m

25-Math.
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58.

59.

60.

P ®Y H e w = flz) T HTHRAS

q
. dw __a__'lﬁ i0
(A) dz N aee
o GW _dw
B = 7
- dw _ w4
e
D) d—w— o i
ar

‘Jﬁlﬁﬂw ﬂz)-zziﬁm zw

vﬁ?@lRe(z)-a,wWﬁ@W

W wiafafya &t g, a‘a’aﬁé’m
(A) T WA @

(B) @ W

C) T wET

D) T frREe




- 61.

62.

25-Math.

If :
. sin 22
(2) =—=,
f (z +1)°
- then residue of flz) at z =— 1
is -

(A) 2 sin 2 c
(B) —2 sin 2

© 0

(D) 4 sin 2

If :

. 22 -8i%+22+i-1
f(2) = _
F@ (22?0

then value of :

f '(z)
-[ cf (z)

(where C is the _circle Izlé 3) is;»:"

A) 0
(B) 2mi
(©) 10m

(D) 18w

| 62

61.

: sin 2z
&=

N fle) F 2 = — 1 T R B

k(A) 2 sin 2-
(B) -2 sin 2
(© 0
- (D) 4 sin 2
AR
| oy 20 —8i2% + 22 +—i—1
, f(2)= TEr
o -
J-f(z)
f@

(St C & N |z|'=~3%)a?rmm‘:

@A) 0

B) 2m

‘ A(C) 107

31

D) 18mi



63. The Laurent series of the function :

1

f(z)= 20-2)

valid in the region 0 < |z| < 1 is .

| 11 &
l+=+5+ ) 2"
(D) P 22 ngl |
64, The bilinear transformation which

maps the points 2 =0, - i, - 1 in

z-plane to w = i, 1, 0 in w-plane is:

@A) w=z+1
z-1
®) w=_z+1
- z-1
©) w=pz+1
D) w=—iz+1
| z-1
25~Math.

63.

64.

32

a1 0< |z] <1H 39 &1 I FER -
o |

f@z)=

21-2)

w=z+1
@A) z-1
" (B) w‘z_z+1
: z-1
© w=i2]
- z+1
D) w;_‘iz+1
o z-1



65.

66.

The number of commutative binary

operations on a set containing 5

elements is :

(A) 518

® 515 510 _ 1)

(C) 525

O 5% -1

r=ke® with constant ‘a.hguléi‘

: velocity o, then its transverse |

acceleration is :

@0

(B) o?r

© 2 ;ozr

D) 3 o?r,

25-Math.
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65.

If a particle describes the curve 66.

et 5 sra9a a7 S # wAfafey

@mm@ﬁﬁwm

(A) 515

(B) 515 (510 _ 1)
(©) 525

D 51 -1

If TH FU IR AT AT o I TH

. rehe® W W E, q T TPRT
. RO B

@) 0

(B) or

1 ©) 2 o2r

D) 3 o?r



67.

68.

" from the lowest point of a vertical

25—-Math.

One end of a light elastic string of
natural length ‘e’ Withv modulus of
elasticity 2 mg is attached to a fixed
point O and a particle of mass m is
attached to the other end A. The

particle is held at rest at O and is

allowed to fall. If the particle is in |

equilibrium position at B such that
AB = b. The b is equal to :
(A) a

(B)

N

(©)

D)

e wWiR

Let a particle of mass m is projected

circle of radius a in such a way it

goes right around the circle. Then | |

the sum of the pressﬁres at the ends

of any diameter is :

(A) 27'" W? - 2ag)
(B) 2Tm @? + 2ag)

© 2™ w2 - ag)
a

© 2w ag)

34

67.

68.

WSh TR ‘@’ i Tk TREH Ty
St fSae y@Ry w2 mg ¥, F
o ferr fer fag O § iwn & aon W
AR m IR 1 TH S A
TR 13w A O fag ¥ feer srawen
ﬁa@waamﬁmmﬁm
%! feafd B & aifs AB = b @ b’ SRR
am o |

(A) a

B)
©

D)

Bl wWie M.

wﬁ_mmm@m‘a’ﬁw
T e Sl gv @ frew fawg
¥ 39 TR e fra s fF e
T4 H L TR W T, A HE ==

.@faﬁmaa'la‘imwm:

(A) 2—:‘- W® - 2ag)

(B) —2;”—‘ @? + 2ag)

2m o
© 2w - ag)

D) 2—;”— @ + ag)



- 69.

70.

25-Math.

® 3

© %

The law of force towards the pole
under which a particle is describing

the curve r = ge®*° is proportionai

to :

@A)

® 3

~

The moment vof'_inertia of a
semicircular lami_ha of mass M and.
- radius a,> about _a_lihe passing

through centre of gravity of lamina

and parallel to boundmg dlameter

of lamina is :

@ Ma? [i- ;/ -;9;‘-‘5)
® Mo’ [% - 3%)
(C) Ma? [% - ,16;2)

'35

o F

69. gafﬁ%ﬁra?rtmmﬁm ﬁm%awh

aﬂiwwr ae°°°mthﬁmﬁt
wrgqrf“aﬁm

(A) -r—2$ |

® e

o

:70.'VWMamﬁWavaW

T T 8 TR e
| F WARR T IRa: g s
o |

@ Ma (4 911:)

B Ma(L_ &
® 4(3 - 5
.
: 2 1 161t
© Malg-9 )
(D)--AMa"‘ 1 19_)

\4' -A97t2



- Space for Rough Work
Fed e @ fog e
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